£ ¥ %

(B fSf3E5HA1H0 =
1 EREAOHE
(1) 4% EfFEEA

#EH EE2

H
5=

w4448 30H)

O 0O HME W #H (@ HESH2L O HEHSHD)

@ 0O #2EHEA O HIEHREA O HFEEFEA

O HARREEZA B0
@ O HSHERA B ESHERRA

(2) FHHoOmEh BERSETHEKEXES _TH7H155

(3) RAUFBUEFEAB FRTES5A20H
(4) RABELFEABR FERTESAZIH

(5) ®RBRUVFER
K4 e
BEER (T W B % TRy Zy VERE
HE N ERTF
e R B T304 12 A
BES R E # “f246 A
2 HEOBE
(1) #R¥EH

L MR DT

R

RT3 -

PR | TR UZv

RETHKXEBS_TH7H15%

0

(2) HZSHEFENICHRBRRTHERXIFAZELEE

SM3E6H12H

FH2EERBEORE HEEE




2

EAR EfEA HE BES [XESIABEES

AR BT KRB 2-7-15

B E B &
(S M4FE4A30BIRHE)

18 &S 358,190FH

28 B8 217,259FH

IMAER 140,931F M

(RER) (Bif7: FF)

[ %S & ]

ATRENE E 320,097
BEE&E 38,093
CEEAR (A+B) 358,190
DAKEET 217,259
EfiEE (C-D) 140,931

T #(OEARE REE OBIOISEARE (@BIMICER))
B YMEATE O OBSMISEARE EBS0ICER))




#wxX3—-4

SAG  ESEA HE g [XEREABRES
FRTEHE BRATEKKIBS2-7-15
g @& X B %
($F45F4 A 0B BHE)
(B FM)
Ezo® BB OB
# B & # B & #
I RENEE 320,097 |1 EHNAMR 17,259
IEE&E 38093 |IEREHE 200,000
EEEEE 38,078 =Rz 217,259
mEETREE HEE O B
TOMOEE 15 ¥ B & £
1ERUSHEIE 171,017
I#EEAEEIE -30.086
0
METH- R EELEE 0
HAESE 140,931
AESE 358,190 HifF-MAESE 358,190




#X4-2

EAR  EHREA HEA BERS XERFABERS |
FRiEME BREHEKRIES2-7-15
B #
(B$F3ESAIE E5M4gF4830R)
(BB FA)
B %
I BEAS
AEERBHEREE
1HRRE 169,526
2ERAH 132,721
AERBEENE 36,805
B MiHRBERAR
1HEINEE 0
2REER 0
Fi3: 5 FEA 0
BEMNE 36,805
I N 474
mEXNER 123
BRI 37,156
WASFIEERS 0
NALzlEES -50.083
58I & A S F) &% -12.927
FEARE 10,555




HEAB EFEA #HH BE2

Pt BRATHEKEES2TEH7TE&1S55

BREEELOWEIORRICET 2WMES

ZUDd D EF A



